
p. 's

week 7 - Monday, 1015

Thedermativeofln

Last week
, we saw that

1nCe (*)

for
any real number x, and

€hl (*
')

for any X
>0

.

Take equation (*
'

) and differentiate both sides :

da,
[ eh
"
I =# Ex ] .

Applying the chain rule on the left and a
simple formula on the right, weget

In (x)
e da [ InCx)

] = 1
.

Divide by e
'""

:

£ Unix)] .

Finally , apply (*
'

) to the right, toget

f×cwxD= Deniz:÷ngf¥oats?



p .2

Week 7- Monday, 10/5.

Exampled Find

(a) dgc cosl l
- In (xD]

,
(b)dg×[Incl- cos (xD], (c)dq [ In (ex) ) .

Solution .

%× [ cosCl- inG)D= - sin( l - Ink)) .dd×[ I - Ink)]
=
- sun ( l- IncxD - ( O -Yx ) = singh .

Cbl dqclnll-coslxllt-f.gg . dgxctcoslxD-sgm.LY# a

(c) dq×[ In le 'T ]
=

tg . dace 'T
= {× .

ex = I
.

O( Note : we can also simplify first .

dq,
[ Ince 's]

ga da,
Ex3=1

.
)

by (*
'I


